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Estimating Multiplication of Fractions

Name:

Determinethe answer u

sing estimation.

Answers

/When multiplying a
fraction and awhole
number you can
estimate the answer
by remembering that
the fraction is just part

of anumber.
L

5x67,=

In the example above, 6 2/3 is
larger than 6 but lessthan 7.

So we know the answer is going

to be between 5 x 6 and 5 x 7.

The actual answer is 33 1/3 whichis 2,
between 5 x 6 (30) and 5 x 7 (35).

5x67,=33 7,

~N

/

1 1 1 1 1 4.
2 3/,x7= A. 147, B. 187/, C. 247/, 35/,
5.
3 1 1 3 1
2 6 /g% 3= A. 197 B. 2473 C. 167 16 /g 6.
7.
3 3 2
3 27/g%x6= A. 974 B. 147, C. 274 675 .
4) 1 1 1 o
8x3/,= A. 26 B. 20 C. 357, 20/,
10.
3 3 3
9 gx2¥%= A 20 B. 28 C. 2% A 11
12.
2 2 2 2 2
o) 4 gx 4= A. 237 B. 177, C. 137 147
1 1 1
N 9 /gx7= A. 6474 B. 777 C. 60 /4 56 /g
3 9 3
8 3x9 /0= A. 327, B 257, C 2175 34710
3 3 1
9 2x8 5= A. 1775 B. 27, C 217/ 20 /g
10 4xgY,= A 20 B. 33 C. 28 38
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[ Math ] www.CommonCoreSheets.com 2 11-121 8 | 0




JL_

Estimating Multiplication of Fractions Name. Answer Key
Deter mine the answer using estimation. Answers
Ve N
/ When multiplying a 5 \
fraction and awhole 5x67;3= . _C

number you can

In the example above, 6 2/3 is

5x67,=33 7,

;ﬂigfggg?:sﬁ’% larger than 6 but less than 7. The actual answer is33 7y whichis |2 A
y >Moerng So we know the answer is going between 5 x 6 (30) and 5 x 7 (35).
the fraction is just part
of & number to be between 5x 6 and 5 x 7. 3 B
L | Y
A
1 1 1 1 1 4.
2 3/,x7= A. 147, B. 187/, C. 247/, 35/,
5. A
3 1 1 3 1
2 §Yyx3= A. 1973 B. 24/ C. 167 16 /g 6. _ B
7 A
3 3 2
3 27/g%x6= A. 974 B. 147, C. 274 675 . C
9. A
Y gx3¥%= A 2 B. 20 C. 37, 20,
0. B
5 gx2¥. = A. 20 B. 28 C. 267 7%, n A
12 A
2 2 2 2 2
o) 4 gx 4= A. 237 B. 177, C. 137 147
1 1 1
N 9 /gx7= A. 6474 B. 777 C. 60 /4 56 /g
3 9 3
8 3x9 /0= A. 327, B 257, C 2175 34710
3 3 1
9 2x8 5= A. 1775 B. 27, C 217/ 20 /g
10 4xg¥,= A. 30 B. 33 C. 28 38
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